=X A O#KET GBE 5 F/)

SMat%af 1 BERE _
wxe | EEE | wAn [BTE e soan | A0 | zEAD |EBCE
i A A | OmE~145% A|15m~645% A|65RELLE A %
5z &1 183, 506| 402, 965 2.20 | 47.63 48, 260 2317, 370 117,335 29.12
=W 3,715 9,198 2.48 | 46.67 1,222 9,249 2,717 29.54
=it 984 2,429 2.47 | 53.19 217 1,254 958 39.44
+H3%4 A1 BRE _
wxe | EBE | wAn [BTET mwen soan | A0 | zEAD |EBCE
i A A | OmE~145% A|15m~645% A|65RELLE A %
Iz B 183, 288| 406, 407 2.22 | 47.31 49, 282 239, 717 117,408 28.89
=W 3,131 9,311 2.49 | 46.21 1,271 9,329 2,705 29.05
=it 988 2,481 2.51 52.55 221 1,300 954 38.45
TS24 /81 8R%E _
wxe | EEE | wAn [BTET e a0 | A0 | zEAD |EBCE
s A A | om~148% Alism~64m AlGSELE A %
e | 181,716] 408,100]  2.25 | 46.99 50,164 241, 144] 116,801 28.62
=1 oy 3,715 9,365 2.52 | 45.71 1,313 9,371 2,681 28.63
=it 995 2,533 2.55 | 51.94 233 1,359 941 37.15
T3 15481 HRE -
wxe | EB% | wAn [BTET mwaen soan | A0 | zEAD |EBcE
s A A | om~148 Alism~64m AlGSELIE A %
e | 179,872] 408,970 2.27 | 46.74 50,746]  242,006] 116,218 28.42
=thm 3,648 9,400 2.58 | 45.34 1,349 5,418 2,633 28.01
=it 984| 2,558 2.60 | 51.51 243 1,388 927 36.24
FH30%4A1BRE _
wxe | EEE | wAn [BTET e a0 | zEAD | zEAD |EBCE
s A A | om~148 Ali5m~64m AlGSELLE A %
Iz &1 178, 392| 410, 297 2.30 | 46.48 51,507 243, 453 115,337 28. 11
=thm 3,578 9,400] 2.63 | 45.03 1,374 5, 430 2,596 27.62
=it 974 2,587 2.66 | 51.11 239 1,437 911 35. 21




